@ 1-800-669-9690
SEAT ADAPTOR KIT #88127
INSTALLATION INSTRUCTIONS

3341-05 ALL SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE
ROADMASTER, Inc. 6110 NE 127th Ave. Vancouver, WA 98682

360-896-0407 fax 360-735-9300 www.roadmasterinc.com

Gussets
underneath
seat

Parts List

(2) 3/4" x 5/8" spacers

(2) 5/16" x 1%2" bolts

(2) 5/16" nylock nuts

(1) 3/8" x 3" bolt

(1) 3/8" lock washer

(2) 8mm nuts

(2) 8mm x 1.25 x 20mm bolts

1. Locate the mounting post (Fig.1) that came with your BrakeMaster. If needed, order part number 450596. Now,
secure the post to the center of the seat adaptor using the included 3/8" x 34" bolt and 3/8" lock washer. If the hole
is countersunk, use the Allen head bolt and lock washer included with this kit.

2. Hold the seat adaptor up to the gussets (Fig.2) Using the pre-drilled holes in the seat adaptor as a template,
mark the hole for drilling (Fig.3), on both sides.

Seat and/or pedal positioning systems may affect the towed vehicle braking system. Determine if
the vehicle to be towed is equipped with pedal presets and/or automatic seat adjustments. Proper installa-
tion of the braking system may be affected by these presets; if the vehicle is so equipped, note the original
installed position and return to that position before towing the vehicle. If the seat and/or brake pedal are
not at the original installed position when the vehicle is towed, the brake pedal may apply unnecessary
braking force, which will damage the brake system and/or electrical system failure or other non-warranty
damage. Failure to follow these instructions may result in property damage, personal injury or even death.

WARNING Failure to follow these instructions can result in
property damage, personal injury or even death.




r@ 1-800-669-9690 =
SEAT ADAPTOR KIT #88127 A
INSTALLATION INSTRUCTIONS

3341-05 ALL SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE
ROADMASTER, Inc. 6110 NE 127th Ave. Vancouver, WA 98682

E

360-896-0407 fax 360-735-9300 www.roadmasterinc.com

Gussets
|\ drilled

3. Once the holes are marked, drill a 11/32" hole into both gus-
sets (Fig.4).

4. Now, place the spacers between the gussets and the seat
adaptor. Bolt from behind and mount the lock washers and nuts
in the front (Fig.6). Bolt the adaptor into place through the drilled
holes (Fig.5) using the supplied 5/16" x 1%2" bolts and 5/16" nuts.

5. Attach the BrakeMaster to the mounting post and brake
pedal, following the instructions in the owner’s manual (Fig.7).

Installation
Complete /

WARNING Failure to follow these instructions can result in
property damage, personal injury or even death.




